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Find anther's

Then cluster

- KMeans itself is

④ good enough



Applications of clustering
Image processing → feature extracting
colour based clustering of pixels



Clustering as preprocessing for classification
MNIST handwritten digits

Raw classification - 97%

Cluster cringes using
K-Means K--2,3 - - -look-10 - each cluster has a centroid

- assign a digit label to each chin

- lose distance to centroid as new

value
K--99 - accuracy improves to almnt 99%



Mixture Models

Model with parameters → observations → MLE
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What - if we don't know the red - blue label ?
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Expectation - Maximization = EM
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Mixture of Gaussian clustering


